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Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
©oTq RIARE e fira

fa) What is cardinal utility?
HRATRALS Soifarer & 2

fb) State one assumption of utility analysis.

GeicHifare Ko bt ger s |
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(2) b2

2. Write short answers of the following
guestions : 2x5=10

word IR b e frn

(¢) What is production function?

Teom I F 2

{d) Define income effect.

S steeat o | {a) What is meant by budget space or set?

s T 1 RS I B gm0

() What is marginal rate of substitution?
2 SPFT 2o ? |

: iﬁ'ﬂﬁtﬁﬁ‘{ﬁr fb) Distinguish between gross demand and

i i d.
() What is the shape of indifference curve in net deman

case of perfect substitutes? o B3 o< o BIRWR Trere ofes ey w4 |
9f Rew AR cvae fUrd @R Wgle
K)
Sl {c}] State the two conditions of consumer’s
3 equilibrium wunder indifference curve
(g) Define expansion path. approach.
SRR A% kel s o
& e @4 RoReTe GeR SReTHR 56 100
TrEy 91 :

{h) What is meant by inter-temporal choice?

SRBSTIRS I A F 09 2
(d) Distinguish between explicit cost and

(i) Define opportunity cost. implicit cost.
SO R AR e | ST T S AP I TG #1240 B |
(i) State the concept of ‘shut-down point’ of
a firm. (e) State the concept of optimum firm.
Qb1 fSPFA “Teorm-I R’ 4ReGT Seae =7 ARSBER 4R S 9 |
FA11
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( 4)

3. Answer the following questions (any four) :
5x4=20

T 2ERE el fra (R ceeen wifRet)

(a) With the help of indifference curves,
distinguish between normal goods and
inferior goods.

FRers @I REe FeRe A o 38
A e N Fefy T4 |

(b) Explain the concepts risk averter, risk
lover and risk neutral individuals.

P! SR, M SECAR] WIE *F s
ST 4T I 340

(c) Briefly explain the concept of returns
to scale.

Teoe N1 ARG GREICHT P W T |

(d) Briefly state the characteristics of
perfectly competitive market.

o afecTferemee Temes (IMEPTR S foral |

(e) Explain how a consumer can reduce risk.

TCSIF2 (RS >3 FAE 21T, WM F41 |
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4. Answer the following questions :

(5)

Derive average fixed cost curve from total
fixed cost curve.

EURESHEiE e Ric S BGOSR e b ICIES
91 |

o] 2HCARS ©6d A -

(@)

(b)

24A/83

Define indifference curve. Explain their

10x4=40

properties. 2+8=10

fARere @R e foren | TR RMEPER e
Eall

Or / g

Critically discuss the law of variable
proportion.

ARST N wpere R STy
SO 4 |

What is least cost combination of inputs?
Discuss how least cost combination of
inputs is attained with the help of
isoquant and isocost lines.

TS TREPT SKCA 5 7 5 -TRAT (I3 S

- ([FAR TS R JIoT T AT
TS 1 26, e <4 |

10
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( 6)

Or / FgW

Explain inter-temporal choice of a
consumer with the help of a diagram. 10

TSR (O RIS Rwd 4 foud
7R 17 9 |

(c) Explain short-run equilibrium of a firm
under perfect competition. 10

o aferrfrers 93 R TFIETS (TS
S S FCI, FRY FA

Or / 757

[]

What are isoqguants? Show the
increasing, constant and decreasing
returns to scale with the help of
isoguants. 1+3+3+3=10
R-BeomE (@Y 7 -TeoqrE (IR TS
T, A E TP TLAT TR
2AfSH @Y |

(d} Define substitution effect. Explain
Slutsky substitution effect with the help
of diagram. 2+8=10
dfSey Remes e fiwn | WG afsss Ree
foa= =ran amam <=0 1
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(7))

Or / 7991

Explain the concepts of total fixed cost,
total variable cost and total cost. How are

they related to each other? Explain.
DF2+2+4=10

P R T, P ARTETAA T AE T T T
mewmﬂwﬁwwm
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